People Search

Expressions and Operations
A2

Directions: Find a different person to answer each of the following questions. Each person should

sign the question they answer.
Find Someone Who Can...

Find the product.
2m*(5m°-6m + 2)

Simplify.
(5x%) (4x°)

Simplify. (-2x%)°

Find the quotient.
(15x* - 9x?) + 3x

Simplify.
25x3 +5x

Write 0.00000632 in scientific
notation.

Write 6.2 x 10% in standard
form.

Find the area of a rectangle
whose length is x + 6 and
width is 4x.




Find Someone Who Can...

Add:
(5x°+ 4x +2) + (6x%-x-1)

Subtract:
(3%%-2X +1) — (4x*-x-7)

Multiply:
(4x-3)(x+4)

Multiply:
(x+3)(x-3)

Multiply:
(3x-2)?

Find the sum of (3m -6n) and
(2m + n).

Find the difference between

(7x°+8x —4) and (6x°+8x —6).

Find total sales if
sales for 1998 are 3x° +5x +8
and sales for 1999 are 2x*-4.




